%

77N
LOCATION OF IDENTIFICATION \ M
STAMP "L” FOR LOW TEMP.
& "H” FOR HIGH TEMP.

WARNING
DESIGN ENGINEERS, TECHNICIANS & INSTALLERS

THE INLET AND OUTLET OF THE ROTARY VALVE MUST
HAVE PROPER ATTACHMENTS TO PREVENT ANYONE

FROM BEING ABLE TO INSERT THEIR HANDS OR ANY
OTHER BODY PARTS INTO THE VALVE WHEN IN OPERATION.

-
-

3/8-16X2 1/2 PLATED HEX BOLT

—
o

NOTES:
1. THIS FEEDER IS A PRECISION PIECE OF EQUIPMENT WITH CLOSE
INTERNAL CLEARANCES. DO NOT CAUSE MISALIGNMENT BY BOLTING
DOWN TO AN UNEVEN SURFACE, OR BY STRUCTURALLY PUTTING THE
FEEDER IN A STRAIN.

2. BEARINGS ARE LIFETIME LUBRICATED.

CUSTOMER.

CUST. P.0. NO.

SMOOT JOB NO.

ITEM NO.

Qry.

DRAWING ISSUE

3/8 PLATED SPRING LOCK WASHER

1/4 SAE PLATED FLAT WASHER

3/8-16X2.0 FULL DOG SOCHD SETSC

3/8-16 PLATED HEX JAM NUT

ER-30 BEARX

PACKING GLAND PLATE

54 3/16"

3/8” SQ PACKING RINGS

1

WF394 ROTOR

2

WF394 END PLATE

<|N[U|~h|[O|D|N|D|©

1

WF394 CYLINDER

DETAIL
NO.

NO.
REQ.

DESCRIPTION

x MAGNUM

1250 Seminary St.
Kansas City, KS 66103
Toll Free: 800.748.7000
Fax: 913.362.7863

SYSTEMS

2205 Jothi Avenue
Parsons, KS 67357
Toll free: 886.882.9567
Fox: 620.421.5586

WF394 FEEDER ASSEMBLY

CUSTOMER DRAWING

CF #10.1.9-6-A
REV. 0 07/24/92
PAGE 1 OF 1

e _07/24/92 | pwg po _39-2

DWN. BY
SCALE

_JLG | aprrOVED
NONE




